Miniature Fittings

M Series

Applicable Tubing: 3.2, 04, 06 Connection Thread: M3, M5, R /3

Hose nipple Barb fitting
Applicable for nylon,
soft nylon and
Configuration for easy polyurethane tubing.
insertion into the tube Configuration for easy Tube
Holds the tube tightly insertion into the tube
Holds the tube tightly
Body . Cap nut
V\Ihth electroless nickel Certainly hold the tube
plated by manual clamping Body
Easy removal of tube . "
by Igosening With electroless nickel Low tightening
Low tightening torque With electroless nickel plated Elgrque
) ight seal
Tight seal plated
c - Specifications
ompaCt plplng Space Applicable tubing material | Nylon Soft nylon f Super PFA( | FEP @ | Modiied PTFE®
Hose nipple tubing 23.18/02
ﬁonnlectionl/discontngcltionfis simple while Applicable | M3 - 04/02.5 | ok - - —
in rge retaining force. ;
eeping a large retaining force lubing i | o025 |B8180218 | oy pn g | 03.18/02 04/02.5 | 04/02.5
) . 0D./1D. | M5, R Vs | 2402 o6lo4 | 04025 | 0604 | T ell | selod
Line up various types _ 06/04
For air connection in confined areas. Fluid Air, Water “-5)
Wax. operating pressure (et 20°C) | 1.5 MPa | 1 MPa [0.8MPa ]| 1MPa | 1.5MPa | 1.4 MPa
Ambient and fluid -5 to 60°C, Water: 0 to 40°C (No freezing)
AlcacS?I’():tfurglanny types of Connection size M3, M5, R /8 \ M5, R 8
g ibpl d hg b t Thread JIS B0205, Class 2 (Metric fine thread)
0Se nipple and hose elbow accepts rea JIS B0203 (Taper thread for piping)

nylon, soft nylon, and polyurethane

tubin Note 1), Note 2), Note 3) Compatible only with hose nipple type.
9 Note 4) Barb fitting, barb elbow, barb elbow (H) are not compatible with water.
Note 5) Deionized water is not recommended for use as it may affect the material used in the fittings.

In addition, it is known to degrade the water quality.

Principal Parts Material

p (3‘1 Material [Body | C3604 (Electroless nickel plate) (Nipple M-3N, M-5N: Stainless steel 303) |
4 > eral "Gasket | Nylon 66: GF30%, Stainless steel 304: NBR (PVC for M3)
e\ + Body of M-5E, M-5ER, M-5M is not surface-treated.
.‘:"3{‘ Electroless nickel plate treated is available as option -X2.
. _4
Fitting Markings for Applicable Tubing Material (Barb fitting, Barb elbow, Barb elbow (H))
Tubing material determines the compatible fittings. (Refer to the table below.)
. . Fitting marking for applicable tubing material
i
Connection Tubing Barb fitlings Barb elbow Barb elbow (H)
Soft nylon .
Made to Order M tubing _ o
3 o
(Refer to page 200 for details.) Polyurethane 73
tubing
Nylon e
tubing e“' !ﬂ'
R 1/,
Ms Soft nylon Marking Marking
tubing (BiLJA]
Polyurethane gm B
tubing

® 194



M3, R 1/8 Series

M5 Series

Miniature Fittings M Series

Model Description Application Note | [Sefes] Model Description Application Note | [Seies| Model Description Application Note
Barb fitting For soft nylon |93.18/2.18 Barb fitting 04/2.5 tee
mema for soft tube | tubing xM3 M-5AN-4 | for nylon tubing| xM5 Both sides  |M5 female|
oy For polyure- | ©3.18/2 . f‘:jr nylon M-5T 4 2 allow 90° X M5 female|
4 . thane tubing | x M3 TS 134 - ubing gzg connection  |x M5 female| KQZ
wonva | | e | 025 Lt - G
-3AU- - " niversal
P 195 thane tubing x M3 Barb flmng. For. soft nylon | 93.18/2.18 olbow Body rotates KDBZ
Barb olbow | E T M-5AU-3 for soft tubing | tubing xM5 . at 360° M5 female|
sjf; 1:bi:gv o n\?{oic 0318218 For polyure- | ©3.18/2 UL e aroundthe  |xMsmale| |KS
tubing xM3 thane tubing x M5 - stud axis KX
P.198
Body  |For poly- 04/2.5
rlaes |urethane | 20 18/2 AU For softnylon| 'y, Universal tee KM
o _ al%0°  [tubing x M3 and polyure- 26/4 _— Body rotates M5 female
= around th - - thane tubin: - at 360°
i [sudads [Forsof M-5AU-6 p.107 9| 5 M5 M-5UT () around the X M5 femalel KF
M-3ALU-4 - nylon 04/2.5 - N x M5 male
and poly- Barb elbow 04/25 stud axis
urethane | X M3 M-5ALN-4 |for nylon tubing| * For nylon M.‘:': P.198
P.196 tubing —. *Body rotates x Extention fitting .
Universal { F° at 360° around Solid piece
i 06/4 moves fitting | M5male | |H/DL
elbow Body rotates M-5ALN-6 = the stud axis M-5J 9
. 360° M3 feml P.197 x M5 W |wpfom  |xsfemal |L/LL
M-3UL = at female 5 "
around the | x M3 male Barb elbow for| Forsoft | 03.18/2.18 P19 workpiece
] stud axis soft tubing Iu{)mg x M5 - - - Kc
P.196 M-5ALU-3 sy [ForpoV- | 03,1872 Nipple Fitting to
Universal rotates at [Uretnane | 2 workpiece
tee Body rotates T 360° ubing x M5 M-5N H})\’ y and fitting x’vrfl‘lr’smr:;e KK
- at 360° M3 female M-5ALU-4 around the| For soft | 94/2.5 e to fitting
M-3UT i around the |XM3female = sudats |njon | x M5 198 | connection KK130
- i x M3 male e =
= stud axis M-5ALU-6 :L';(:ga”e 26/4 Universal
P.196 P.197 x M5 nipple Body rotates wsmae | |DM
Nipple Fitting to Barb elbow (H) 04/2.5 M-5UN . at 360° « M5 male
. M-5ALHN-4 |for nylon tubing| 8%/ e around the
workpiece Vi3 male 9 oates | For x M5 ) o tud axi PAT.
M-3N a andfiting |y S at360° m/l\)ior:g b 195 | St XS KDM
- to fitting [ around the 06/4 :
connection M-5ALHN-6 stud axis M5 Bulkhead union|
P.196 = pagr x . KB
Plug Barb elbow (H) Forsan [03.192.16| [l 5E ‘g Panelmount b fenale
Use to plug for soft tubing tubing xM5 connection | xHilofemalg KR
M-5ALHU-3 -
M-3P h unused M3 Bogy |Ferpoly | 93.18/2 P.198
port ® OES | tubing x M5 Bulkhead reducer | Reduction
== at 360 KA
P.196 4 aroundthe|Forsoft | @4/2.5 p from Re 1/8 to
: M-5ALHU-4 # M5 including  |Rc /8
b- -4 studaxis |nylonand] x M5 M-5ER
palyure- 6)) panelor  |xsfemad [K0G2
M-SALHU-G thane 06/4 ¢ bracket
Seies|  Model Description | Application Note A : P.197 tubing x M5 P.199 | mounting
Barb fitting Hose nipple i
) 04/2.5 x pPle | For nylon, 04/2.5 Manifold For reducing Re
M-01AN-4 (for nylon tubing| or nyjon R18 MSHE soft n))l/\on x M5 e 118 female be Rc 18
. . 7 divertedtoupto 9,
S tubing ‘ar"' and M-5M ) M sitions ng?ltema\e KFG2
morans| YD 06/4 X M-5H-6 polyurethane | @6/4 includingpanel | Saons)
P.196 R p.197| tUbing xM5 P.199 | or bracket mounting MS
Barb fitting 04/2.5 x Hose elbow 54125 Bushing
M-01AU-4 [for soft tubing | For soft R % M-5HL-4 | «For nylon, M5 Forreducing |40 KKA
= nylon and Y soft nylon and M-5B [T R 1/8 female M5 female]
A \"“ ¥ polyure- . 06/4 x s polyurethane 06/4 -~ to M5.
M-01AU-6 ) thane tubing R4 M-5HL-6 tubing X M5 P.199 KP
P.196 P.198 | « Body rotates Piug
Hose nipple | For nylon 24/2.5 Hose elbow (H)| at 360° 42 Use to plug
M-01H-4 witmion || lw-sHL aoundthe | 2425 | Ml 5p 3 |unusedms LQ
8 ~— stud axis port.
and poly- Y4 P.199
N-01H-6 ursihane ”g/f/x M-5HLH-6 oot R
9 8 P.198 x
Elbow T
One-sided | M5 female|
MSt T 90° elbow | M5 femalg IDK
P.198

195



M Series

M5 Series

Hose Elbow: M-5HL-4/-6
Effective area |Weight
F,\ Model A B Cc D |oE [oF | M (mm?) @ ml
M-5HL-4 |165/125|85 | 7 |18 |65 | 5 1.4 4.4 ]
= M-5HL6 [17.5(135/95 | 8 |25 85| 6 24 |52 ' I
M5x08 /
Hose Elbow: M-5HLH-4/-6
c Model | A |B |C |D |eE|eF (G [H |OI|m E”e(ﬂ‘flf;’ea W&;%“‘ g across
\/ M-5HLH-4 |155(12 |85| 7 |18|65(55|15| 7 | 5 1.4 4.5
! M-5HLH-6 [17.5]/135]/95| 8 |25|85 |6 168 | 6 24 6.6
Elbow: M-5L Tee: M-5T
M5 x 0.8 M5 x 0.8
\ " | ]
— -t
M5x0.8 . M5 x0.8 06.8
13 . 13 .
Weight: 4.2 g Weight: 3.5 g
Universal Elbow: M-5UL Universal Tee: M-5UT
Width across flats 7 M5x0.8 Width across flats 7 2xM5x0.8
g?
= ~ = 0@ L)
= 2 @I: D4
H (q
T o \
M5x08 02.5 o i 0
= 065 L7 k1 a5
13 =
Effective area: 2.4 mm2 Weight: 5.3 g Effective area: 2.4 mm2 Weight: 4.8 g
Extension Fitting: M-5J Nipple: M-5N
M5 x 0.8 Width actoss flats 7 Width across flats 7
T
bl
)
2l =y
“«i M5 x 0.8 1 “»\ ﬁ‘
R
025
Effective area: 4.0 mm2 Weight: 3.6 g Effective area: 4.0 mm2 Weight: 1.5 g
Universal Nipple: M-5UN Bulkhead Union: M-5E
M5 x 0.8 M8 x 0.75
22.5 . -
M5 x 0.8 Width across r@ o
Width across )2 EQ
- \9\ ; P AR /4 S° Wldth across
Qﬁ)} 1 Width aiglossg ’} Mounnng plate thickness
M5 x 0.8 Q ' A \
For the plate thickness 3.5 to 6 mm,
Effective area: 4.0 mm2 Weight: 3.9 g %‘é?,?;gﬁﬁ}appmg M8 x 0.75. and Weight: 4.6 g

® 198



M5 Series
Bulkhead Reducer: M-5ER

Miniature Fittings M Series

Manifold: M-5M

Re
=z

£ Width across

@ ) flats 14

M12x0.75

Width across flats 14
Mounting plate thickness

3.5 max.

For the plate thinkness 3.5 to 6 mm, give the plate
tapping M12 x 0.75, and then screw-in.

9xM5x08 7

Width across .
flats 17 { —|A
65 22
20 |15 | 32

Panel mounting plate thickness max. 3.5 mm
For the plate thinkness 3.5 to 6 mm, give the plate
tapping M12 x 0.75, and then screw-in.

=

EIEISES EIESIERIE
xn;gﬁ-n g*‘”%s

Weight: 12 g Weight: 59 g
Bushing: M-5B Plug: M-5P
Width across
M5x0.8 flats 10
Q | Width across
p. \ T ) 0 flats 7
\m : 5 a w]ﬂ_%%% M5 x 0.8
R4
Weight: 5.8 g Weight: 1.3 g
| A Precautions =
P o e e e e e e e S —-——— -
1 Be sure to read this before handling the products. 1 DM
I Refer to back page 50 for Safety Instructions and pages 13 to 17 for Fittings and Tubing 1
I Precautions. 1 |KDM
| e e L L L L T e e e e ] -

[ Tightening of M3/M5 Threads |

| Use of Tube with Hose Nipple |

[ Use of Tube with Barb Fitting |

A\ Caution

. Tighten by hand, and give it an additional turn
with a wrench.
Please check the number of tightening
revolutions using the table below.
If tightened excessively, thread portion may be
damaged and gasket may be deformed. This
will cause air leakage. On the contrary, if
tightened insufficiently, thread may loosen
causing air leakage.
Thread Model
M-3AU-O0
M-3N
M-3P
M-3ALU-0O0
M-3UL
M-3UT
M-5AN-0J
M-5AU-O0
M-5H-0
M-5J
M-5N
M-5UN
M-5P
M-5ALN-6
M-5ALU-6
M-5ALHN-6
M-5ALHU-6
M-5HL-0
M-5HLH-O
M-5ALN-4
M-5ALU-3,4
M-5ALHN-4
M-5ALHU-3,4
M-5UL
M-5UT
Note) As a guideline, the tightening torque should
be 1to 1.5 N-m.

-

Number of tightening rotations

Approx. 1/4 rotations

M3

Approx. 1/2 rotations

Approx. 1/6 to 1/4
rotations Note)

M5

Approx. 1/2 rotations Nete)

A\ Caution

1. Cut the tube perpendicularly to the tube
axis to a little longer than required length.
(Use tube cutter “TK-1", “TK-2" or “TK-3".)

2. Pass the tube through the cap nut.

3. Push the tube until it comes to the end of
the barb portion, or it may cause air
leakage or hose releasing.

4. Tighten the cap nut firmly by hand on the
fitting.

A\ Caution

1. Cut the tube perpendicularly to the tube
axis to a little longer than required length.
(Use tube cutter “TK-1”, “TK-2" or “TK-3".)

2. Push the tube until it comes to the end of
the barb portion, or it may cause air
leakage or release hose.

199

062

=
=
=

5|3

=
=]
=]

7

=]
=



